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>> X=pi

3.1416
>> a=sym('pi')
a =
pi
>> sin(x)
ans =
1.2246e-16
>> sin(a)
ans =

0



>> a=sym('pi')
a =
pi
>> double(a)
ans =

3.1416
>> vpal(a,20)
ans =

3.1415926535897932385



» x=sym('x");

Y9920 990N NITHN

» syms(x,y) ) -D»51200 D90N 190N NITIN

DI YNV VN
»symsabc

» class(a) ’212°0 DN0N MNVYN DN NPITA
ans =

sym




» class(a) Y5)1°0 0NN MNVN DN NPT |
ans =

sym

» w=1;

» class(w)

ans =

double
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» M= g bre dj

e —
a, b]
e (6]
» det (M)
ans =
Slaie lale (e

£ =ax® +bx = ¢ TNIVPDNIRNYH NDND

» ns & b @ oo
» =t Vol
f =

a*x*2+b*x+c
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a*x*2/ (b-x)
[n,d]=numden (f)
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f=2x"+3x-5;g=x"-x+7

» f=ate 24 I8 5
» g 0
> ftg
ans =
ary A E s 1
» £t g
ans =
a*x*2+4*x-12-x"2
» g
ans =
(e VR ) (o )
» f/g
ans =
(a*x”*2+3*x-5) / (x*2-x+7)
» (e
ans =
(a2 S e ()




» T D)
>3 [eE=Sligl 0,0

» compose (£, g)
ans =

] L inte) 2)

» compose (g, )
g =

VAVAVAAAAAAAAA
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» =3 S e ol
» n=sym2poly (f)
n =
1 % = o 5




NO71217°0 PXPID TINWH QW MW

» f=a*x*"3+2*x*2-3*x+5
f =

8 e Y e Y
» subs (f, x,s)
ans =

MAAAAAANANNAANA

a*s?*3+2*s”2-3*s+5

» subs(f,a, [alpha;s])
ans =

[alpha s s Vel P ek
[ 8s*x*"34+2*x"2-3*x+5]



» g=3*x"2+5*x-4;
» h=subs (g, x,2)
h =

il
» class (h)
ans =

sym
» double (h)
ans =

e
» class (ans)
ans =

double
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» SnE e o ¢ i o
» T Jibrx ¢
f =

a % i Jle

» diF (1)

ans =

S a xR e
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»diff(fa) % NN NMINWNI a NN
ans =

X 3

» diff(f2) % x90 DIV NI WD
ans =

6*a*x+2*b

» diff(f,a,2) % %0 MY NI NIWN
ans=

0
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» SYmS s Gl
» f=sin(s+2*x);
» 1nkEF)

ans =

VAAMAAAAAAA

-1/2*cos (s+2*x)

X 0 MY TPXNVIN TINYN PTIND JN NI 22IWINA IND

» i1 (F =)
ans =

VArAAAAAAA

e elokc (sl d)
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» int (£, s)
ans =

wAanAAAAAAAn

—Ccos (s+2*x)
> Nk (f P2 P

ans =
e (@l0)s (1)

» ink (B 5 o1 /2 )

ans =

[VVEVINVIVIIN

2*cos (x) *"2-1-2*sin (x) *cos (x)



>> [EVec,EVal]=eig([123;456;789])
EVec =

-0.2320 -0.7858 0.4082

-0.5253 -0.0868 -0.8165

-0.8187 0.6123 0.4082
EVal =

16.1168 0 0

0 -1.1168 0
0 0 -0.0000

>> [EVec,EVal]=eig(sym([12 3;456; 789]))
EVec =
- (3*%337(1/2))/22 -1/2, (3*337(1/2))/22-1/2, 1]

[ 1/4-(3*337(1/2))/44, (3*337(1/2))/44 +1/4, -2]
' 1, 1, 1]

EVal =

15/2 - (3*337(1/2))/2, 0, 0]
| 0, (3*337(1/2))/2 + 15/2, 0]
0, 0, 0]




